

$$\int \frac{7x^5 + 14x^4 + 41x^3 + 22x^2 + 20x - 6}{x^4 + 2x^3 + 6x^2 + 10x + 5} dx = \dots = \text{NA PAR EIA'LING ZLOMKY}$$

$$= \int \left( 7x - \frac{3}{x+1} + \frac{2}{(x+1)^2} + \frac{2x-1}{x^2+5} \right) dx =$$

$$= 7 \int x dx - 3 \int \frac{1}{x+1} dx + 2 \int \frac{1}{(x+1)^2} dx + \int \frac{2x}{x^2+5} dx - \int \frac{1}{x^2+5} dx$$

*substituce:  $x+1=t \Rightarrow \int \frac{1}{t^2} dt = -\frac{1}{t} + C$*

$$= \frac{7}{2} x^2 - 3 \ln|x+1| - 2 \frac{1}{x+1} + \ln|x^2+5| - \frac{1}{\sqrt{5}} \arctan \frac{x}{\sqrt{5}} + C$$

$$\begin{cases} \ln a + \ln b = \ln(ab) \\ \ln a - \ln b = \ln \frac{a}{b} \\ r \ln a = \ln(a^r) \end{cases}$$

$$\int \frac{\sqrt[3]{x}}{x(\sqrt{x}+\sqrt[3]{x})} dx = \left| \begin{matrix} x = t^6 \\ dx = 6t^5 dt \end{matrix} \right| = \int \frac{t^2}{t^6(t^3+t^2)} dt = \int \frac{1}{t^6(t^3+t^2)} dt = *$$

$$\frac{1}{t(t^3+t^2)} = \frac{A}{t} + \frac{B}{t+1} = \frac{1}{t} - \frac{1}{t+1}$$

$$\frac{1}{t(t+1)} = \frac{A(t+1) + Bt}{t(t+1)}$$

$$1 = A(t+1) + Bt$$

$t = -1: 1 = A \cdot 0 + B \cdot (-1) \Rightarrow 1 = -B \Rightarrow B = -1$

$t = 0: 1 = A \cdot 1 + B \cdot 0 \Rightarrow 1 = A$

$$* 6 \int \left( \frac{1}{t} - \frac{1}{t+1} \right) dt = 6 (\ln|t| - \ln|t+1|) = 6 \ln \frac{|t|}{|t+1|} + C =$$

$$= 6 \ln \frac{\sqrt[6]{x}}{\sqrt[6]{x+1}} + C = \ln \frac{|x|}{(\sqrt[6]{x+1})^6} + C$$

$$\int \frac{\sqrt[3]{x-7}}{(x-7)^2 \sqrt{x-7}} dx = \left| \begin{matrix} x-7 = t^6 \\ dx = 6t^5 dt \end{matrix} \right| = \int \frac{t^2}{t^6 + t^5} \cdot 6t^5 dt =$$

$$= 6 \int \frac{t^2 \cdot t^5}{t^5(t+1)} dt = 6 \int \frac{t^2-1}{t+1} dt =$$

$$= 6 \int \left( \frac{t^2-1}{t+1} + \frac{1}{t+1} \right) dt =$$

$$= 6 \int \left( \frac{(t-1)(t+1)}{t+1} + \frac{1}{t+1} \right) dt =$$

$$= 6 \int \left( t-1 + \frac{1}{t+1} \right) dt =$$

$$= 6 \left( \frac{t^2}{2} - t + \ln|t+1| \right) + C = 6 \left( \frac{\sqrt[6]{x-7}^2}{2} - \sqrt[6]{x-7} + \ln|\sqrt[6]{x-7}+1| \right) + C$$

$$\int \frac{\sqrt[6]{6x-5} - 1}{\sqrt[3]{(6x-5)^4} \sqrt[4]{(6x-5)^5}} dx = \left| \begin{matrix} 6x-5 = t^{12} \\ dx = 12t^{11} dt \end{matrix} \right| =$$

$$= \int \frac{t^2 - 1}{t^6 + t^5} \cdot 12t^{11} dt = 12 \int \frac{(t^2-1)t^{11}}{t^5(t+1)} dt =$$

$$= 12 \int \frac{(t-1)(t+1)t^{11}}{t^5(t+1)} dt = 12 \int \frac{t^6-1}{t^5} dt = 12 \int \left( \frac{1}{t} - \frac{1}{t^5} \right) dt =$$

$$= 12 \left( \frac{t^2}{2} - \frac{t^{-4}}{-4} \right) + C = 6 \frac{t^2}{1} + \frac{3}{t^4} + C =$$

$$= 6 \frac{\sqrt[6]{6x-5}^2}{1} + \frac{3}{\sqrt[6]{6x-5}^4} + C = \frac{6}{\sqrt[6]{6x-5}} + \frac{3}{\sqrt[6]{6x-5}^4} + C$$

$$\int \frac{x^2}{(5x+2)\sqrt{5x+2}} dx = \left| \begin{matrix} 5x+2 = t^2 \\ dx = 2t dt \end{matrix} \right| = \int \frac{t^2}{t^2 \cdot t} \cdot 2t dt = 2 \int \frac{t^2-4+\frac{4}{t^2}}{t^2} dt =$$

$$= \frac{2}{125} \left( \frac{t^3}{3} - 4t - \frac{4}{t} \right) + C = \frac{2}{125} \left( \frac{\sqrt{5x+2}^3}{3} - 4\sqrt{5x+2} - \frac{4}{\sqrt{5x+2}} \right) + C$$

$$= \frac{2}{125} \sqrt{5x+2} \left( \frac{5x+2}{3} - 4 + \frac{4}{5x+2} \right) + C$$

$$\int \frac{7}{\sqrt{x^2+10x-5}} dx = 7 \int \frac{1}{\sqrt{x^2+10x-5}} dx = *$$

$(x+5)^2 = x^2 + 10x + 25$

$$* = 7 \int \frac{1}{\sqrt{(x+5)^2 - 30}} dx = \left| \begin{matrix} x+5 = t \\ dx = dt \end{matrix} \right| = 7 \int \frac{1}{\sqrt{t^2-30}} dt =$$

$$= 7 \ln \left| t + \sqrt{t^2-30} \right| + C = 7 \ln \left| x+5 + \sqrt{x^2+10x-5} \right| + C$$